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EFRATAI 1s AR A TIF EAX AT THAE PRR NI RE:

$ 1s

cpython devguide prog.py pypy rm-unused-function.patch

$ 1ls pypy

ctypes_configure demo dotviewer include 1lib_pypy lib-python ...
$ 1s -1

total 20

drwxr-xr-x 19 wena wena 4096 Feb 18 18:51 cpython

drwxr-xr-x 4 wena wena 4096 Feb 8 12:04 devguide

—-rwxr-xr-x 1 wena wena 535 Feb 19 00:05 prog.py

drwxr-xr—-x 14 wena wena 4096 Feb 7 00:59 pypy

-rw-r—--r—-— 1 wena wena 741 Feb 18 01:01 rm-unused-function.patch
$ 1s —-help

Usage: 1ls [OPTION]... [FILE]...

List information about the FILEs (the current directory by default).
Sort entries alphabetically if none of -cftuvSUX nor --sort is specified.
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import argparse
parser = argparse.ArgumentParser ()
parser.parse_args ()

PAF R I T4 R

$ python prog.py
$ python prog.py —-help
usage: prog.py [—h]

options:
-h, —--help show this help message and exit
$ python prog.py —-verbose
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usage: prog.py [—h]
prog.py: error: unrecognized arguments: —--verbose
$ python prog.py foo
usage: prog.py [—h]
prog.py: error: unrecognized arguments: foo
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import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("echo™)

args = parser.parse_args ()

print (args.echo)

BT

$ python prog.py

usage: prog.py [—h] echo

prog.py: error: the following arguments are required: echo
$ python prog.py —-help

usage: prog.py [—-h] echo

positional arguments:
echo

options:

-h, ——help show this help message and exit
$ python prog.py foo
foo
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("echo", help="echo the string you use here")
args = parser.parse_args ()

print (args.echo)

R FATFE

$ python prog.py -h
usage: prog.py [—-h] echo

positional arguments:

echo echo the string you use here
options:
-h, —-—-help show this help message and exit

BUAE, R — LS 1 -

import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number")
args = parser.parse_args ()

print (args.square**2)

PATF RAZAUHE I F T4 R

$ python prog.py 4
Traceback (most recent call last):

File "prog.py", line 5, in <module>
print (args.square**2)
TypeError: unsupported operand type(s) for ** or pow(): 'str' and 'int'

BEAKIA . B2 argparse SALEA LB BRI/ N TR, BRARFITESEUFE BIXAE. B
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", help="display a square of a given number",
type=int)

args = parser.parse_args ()

print (args.square**2)

PATR 2RIz 44

$ python prog.py 4

16

$ python prog.py four

usage: prog.py [—h] square

prog.py: error: argument square: invalid int value: 'four'
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BIEA R AL, FAT—HAERIFOE S ERATE R WA ] e :

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbosity", help="increase output verbosity")
args = parser.parse_args()
if args.verbosity:
print ("verbosity turned on")

Al i -

$ python prog.py —--verbosity 1
verbosity turned on

$ python prog.py

$ python prog.py —-help

usage: prog.py [-h] [--verbosity VERBOSITY]
options:
-h, —--help show this help message and exit

—-verbosity VERBOSITY
increase output verbosity
$ python prog.py —-verbosity

usage: prog.py [-h] [--verbosity VERBOSITY]
prog.py: error: argument —--verbosity: expected one argument
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("--verbose", help="increase output verbosity",
action="store_true")
args = parser.parse_args()
if args.verbose:
print ("verbosity turned on")

Al i -

$ python prog.py —--verbose

verbosity turned on

$ python prog.py —-verbose 1

usage: prog.py [~h] [—--verbose]

pProg.py: error: unrecognized arguments: 1
$ python prog.py —-help




usage: prog.py [~h] [--verbose]

options:
-h, —--help show this help message and exit
—-—-verbose increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()

parser.add_argument ("-v", "--verbose", help="increase output verbosity",

action="store_true")
args = parser.parse_args()
if args.verbose:
print ("verbosity turned on")

BRI ILAE:

$ python prog.py -v
verbosity turned on
$ python prog.py —-help
usage: prog.py [~-h] [-V]

options:
-h, —--help show this help message and exit
-v, —-verbose increase output verbosity
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbose", action="store_true",
help="increase output verbosity")

args = parser.parse_args ()

answer = args.square**2

if args.verbose:
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print (f"the square of {args.square} equals {answer}")
else:
print (answer)
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eyt

$ python prog.py

usage: prog.py [—-h] [-Vv] square

prog.py: error: the following arguments are required: square
$ python prog.py 4

16

$ python prog.py 4 —--verbose

the square of 4 equals 16

$ python prog.py —-verbose 4

the square of 4 equals 16

o FAVF] T IESR A TR
o FERMRFIC R B
HRNFEFIN_ B ZATUREMIME, AR5 5EFRR A :

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int,
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f" {args.square}"2 == {answer /")
else:
print (answer)

% -

$ python prog.py 4

16
$ python prog.py 4 -v
usage: prog.py [—h] [-v VERBOSITY] square

prog.py: error: argument -v/--verbosity: expected one argument
$ python prog.py 4 -v 1

472 == 16

$ python prog.py 4 -v 2

the square of 4 equals 16

$ python prog.py 4 -v 3

16

BT R, B LRI, Ria— DR TN A bug. FATATLAEL R ——verbosity

BT AR SZ I EARB I

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
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help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", type=int, choices=[0, 1, 2],
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

Ay i -

$ python prog.py 4 -v 3

usage: prog.py [-h] [-v {0,1,2}] square

prog.py: error: argument -v/--verbosity: invalid choice: 3 (choose from 0, 1, 2)
$ python prog.py 4 -h

usage: prog.py [-h] [-v {0,1,2}] square

positional arguments:

square display a square of a given number
options:
-h, —--help show this help message and exit

-v {0,1,2}, --verbosity {0,1,2}
increase output verbosity
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display the square of a given number")
parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")
args = parser.parse_args ()
answer = args.square**2
if args.verbosity ==
print (f"the square of {args.square} equals {answer}")
elif args.verbosity == 1:
print (f"{args.square "2 == {answer ")
else:
print (answer)

FATFIA T 3PS count”, SREETTHEE P H BUAT IR AL -

$ python prog.py 4

16
$ python prog.py 4 -v
472 == 16

$ python prog.py 4 -vv
the square of 4 equals 16
$ python prog.py 4 —--verbosity —--verbosity
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the square of 4 equals 16

$ python prog.py 4 -v 1

usage: prog.py [~-h] [-v] square

prog.py: error: unrecognized arguments: 1
$ python prog.py 4 -h

usage: prog.py [—-h] [-v] square

positional arguments:
square display a square of a given number

options:
-h, —--help show this help message and exit
-v, ——-verbosity increase output verbosity

$ python prog.py 4 -vvv

16
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import argparse

parser = argparse.ArgumentParser ()

parser.add_argument ("square", type=int,
help="display a square of a given number")

parser.add_argument ("-v", "--verbosity", action="count",
help="increase output verbosity")

args = parser.parse_args ()

answer = args.square**2

# bugfix: replace == with >=
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity >= 1:
print (f" {args.square}"2 == {answer}")
else:
print (answer)

R EAENTA

$ python prog.py 4 -vvv

the square of 4 equals 16

$ python prog.py 4 -vvvv

the square of 4 equals 16

$ python prog.py 4

Traceback (most recent call last):
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File "prog.py", line 11, in <module>
if args.verbosity >= 2:
TypeError: '>=' not supported between instances of 'NoneType' and 'int'

s -l RL, BT ZHIH bug. WHTRUL, AR B >=2 BERTREER.
o Sl A
IEFRAMEEALA bug:

import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("square", type=int,
help="display a square of a given number")
parser.add_argument ("-v", "--verbosity", action="count", default=0,
help="increase output verbosity")
args = parser.parse_args()
answer = args.square**2
if args.verbosity >= 2:
print (f"the square of {args.square} equals {answer}")
elif args.verbosity >= 1:
print (f" {args.square}"2 == {answer}")
else:
print (answer)

FATHIMIGIA T L= KT default. FRATEEREN 0 R EW AL HABRE(EM B AL . iCfE,
BN OL R AR — D S HO A i€, BERHS 2 None, I HEARREFIBEUHM LR (FroA=4 T

TypeError FH).
VR

$ python prog.py 4
16

SEAEFATH BTE AW AR PR T AR Z 360, AL U T — 2 BME . argparse BRHUEER
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import argparse
parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args ()
answer = args.x**args.y
if args.verbosity >= 2:

print (f"{args.x} to the power {args.y} equals {answer}")
elif args.verbosity >= 1:

print (f" {args.x}"{args.y} == {answer /")
else:

print (answer)

B -
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$ python prog.py

usage: prog.py [-h] [-Vv] x vy

prog.py: error: the following arguments are required: x, vy
$ python prog.py -h

usage: prog.py [-h] [-Vv] x vy

positional arguments:

b4 the base
% the exponent
options:
-h, —--help show this help message and exit
-v, —-verbosity
$ python prog.py 4 2 -v
472 == 16

WS HE IR AT e PRGN A & B R SCA . DA 7B WA R 4R e ik R % g
AR

import argparse

parser = argparse.ArgumentParser ()
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")

parser.add_argument ("-v", "--verbosity", action="count", default=0)
args = parser.parse_args()
answer = args.x**args.y
if args.verbosity >= 2:
print (f"Running '{__file_ }'")
if args.verbosity >= 1:
print (f"{args.x}"{args.y} == ", end="")

print (answer)

i -

$ python prog.py 4 2

16
$ python prog.py 4 2 -v
472 == 16

$ python prog.py 4 2 -vv
Running 'prog.py'
472 == 16

6.1 EEFBE ISR

BIEHE SRR ESHOE RN T 7 — A S EATEE SO, WA —- ki if parse_args () 7£
EZIENSHR 'S

>>> parser = argparse.ArgumentParser (prog='PROG")
>>> parser.add_argument ('-n', nargs='+")
>>> parser.add_argument ('args', nargs='*")

>>> # ambiguous, SO parse_args assumes 1it's an option

>>> parser.parse_args(['-f'"'])
usage: PROG [-h] [-n N [N ...]] [args ...]
PROG: error: unrecognized arguments: —-f
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>>> parser.parse_args(['——", '-f'])
Namespace (args=["'-f'], n=None)

>>> # ambiguous, So the —-n option greedily accepts arguments
>>> parser.parse_args(['-n', "1', '2', '3'])

Namespace (args=[], n=["'1', '2', '3'])
>>> parser.parse_args(['-n', '1', '--=', '2', '3'])
Namespace (args=['2", '3'], n=["1"'])

6.2 FEHIIEIR

FHFCAIE, FAT—ETEMHA argparse.ArgumentParser LB PHN . IERITENFHE = HE
add_mutually_exclusive_group (). Eﬁl@&fl]fgfﬁfﬁﬁ[ﬁﬁ{q‘%E‘Jlﬁ@io ﬂ:&ﬂ]ﬁ1§ﬂjﬁ%)¥%ﬁ%%ﬁ
SrPAMERSHIIRE A B L FATFTIA ——quiet I, EXF5H ——verbose MIERM:

import argparse

parser = argparse.ArgumentParser ()

group = parser.add_mutually_exclusive_group ()
group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-qg", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")
parser.add_argument ("y", type=int, help="the exponent")
args = parser.parse_args()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f" {args.x} to the power {args.y} equals {answer}")
else:

print (f"{args.x/}/"{args.y} == {answer ")

FATOREFIAEZRFE R 7, FATH TR T E0EE T —LLhfe. To iy, e Xk

$ python prog.py 4 2

472 == 16
$ python prog.py 4 2 —q
16

$ python prog.py 4 2 -v

4 to the power 2 equals 16

$ python prog.py 4 2 -vqg

usage: prog.py [~h] [-v | —gq] x v

prog.py: error: argument -qg/--quiet: not allowed with argument -v/--verbose
$ python prog.py 4 2 -v ——-quiet

usage: prog.py [-h] [-v | -q] x vy

prog.py: error: argument -g/--quiet: not allowed with argument -v/--verbose

D ARARA 5y B FRUSIN T A Rt X REAR il DA BTk B s 1, RN A& B RS P A X
AR o

TERARZ AT, AR B IRIRE PR R EZ AR, DA AT A S A
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import argparse

parser = argparse.ArgumentParser (description="calculate X to the power of Y")
group = parser.add_mutually_exclusive_group ()

group.add_argument ("-v", "--verbose", action="store_true")
group.add_argument ("-q", "--quiet", action="store_true")
parser.add_argument ("x", type=int, help="the base")

parser.add_argument ("y", type=int, help="the exponent")

args = parser.parse_args ()

answer = args.x**args.y

if args.quiet:

print (answer)
elif args.verbose:

print (f"{args.x} to the power {args.y} equals {answer /")
else:

print (f" {args.x/}"{args.y} == {answer /")

RSO P MM 25 R
P

-v | —al, ERERRUHRNTATABN v 8 —q, EARERBHE

—

$ python prog.py —-help
usage: prog.py [-h] [-v | -q] x vy

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, --help show this help message and exit
-v, ——-verbose
-g, ——quiet

7 wnfaEliF argparse R9%atH

argparse B HBIAE B B SCR RIS AN BEAR T AL gettext BIPLSCILRIE. X i AR
B AHAL argparse I AERIEE . J31§2 L i18n-howto.

fan, TEXA~ argparse #iHH:

$ python prog.py —-help
usage: prog.py [-h] [-v | —gq] x ¥y

calculate X to the power of Y

positional arguments:

X the base
y the exponent
options:
-h, —--help show this help message and exit
-v, ——-verbose
-gq, ——quiet

13




FHE usage:, positional arguments:, options: fll show this help message and exit Hf

ST
SRS, AU ERTRIREL A . po SCHP. (AN, B Babel, BT 4

[$ pybabel extract -o messages.po /usr/lib/python3.12/argparse.py J

WA argparse BIHSEHIA A BRI FAFE, IR 1 24 0 messages . po ML, BLfir
AR E VRV Python 2243 Bl /usr/1ib,

YRATPARE AR I AR 4K argparse BHRAE RS AL HE :

import argparse ’

print (argparse.__file )

—H . po UM SCAE BRIESE I gettext 2 T, argparse KRR #IFEIEE.
HWIFAE argparse fiit PRITAFE, A gettext.

8 i

BT IX RN NE, argparse BBGARAL T ZIIRE. ESCRRIY TR SR, WE KRR, SE
XABAREL S5, AR REZE AN R e B 35212308
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